
117www.spax.us

UNIDRIVE: #2 Phillips / #2 Square
Part Number: 5000009190009
Size: 1" - 1/4" hex
Use with SPAX® Multi-Material screws: #8, 
#10, and #12
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

T-STAR plus: T20 plus
Part Number: 5000009185209
Size: 1" - 1/4" hex
Use with SPAX® Multi-Material screws: #8, 
#9, and #10
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

T-STAR plus: T20 plus (2 pack)
Part Number: 5000009285209
Size: 2" - 1/4" hex
Use with SPAX® Multi-Material screws: #8, 
#9, and #10
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

T-STAR: T40
Part Number: 5000002016409
Size: 1" - 1/4" hex
Use with SPAX® PowerLags® T-STAR Washer 
Heads: 5/16"
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

T-STAR plus: T30 plus
Part Number: 5000009185309
Size: 1" - 1/4" hex
Use with SPAX® Multi-Material screws: #14
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

T-STAR plus: T30 plus (2 pack)
Part Number: 5000009285309
Size: 2" - 1/4" hex
Use with SPAX® Multi-Material screws: #14
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

T-STAR: T30
Part Number: 5000002016309
Size: 1" - 1/4" hex
Use with SPAX® PowerLags® T-STAR 
Washer Heads: 1/4"
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

T-STAR: T50
Part Number: 5000002016509
Size: 1" - 1/4" hex
Use with SPAX® PowerLags® T-STAR Washer 
Heads: 3/8"
Mfg. Origin: Taiwan
Only sold in master cartons of 10.

BIT FEATURES

•  Machined perfectly to work
with our T-STAR recess 
drive reducing wobble / 
superior bit fit

•  Made from S2 material for
extreme durability

•  Impact rated

•  Color coded bands to help
find bits quickly

ACCESSORIES
SPAX® Bit Center


